[l

o
HE
B

i

WO (B Y

No.9 2021 11. 30

o R

MU oz ZHETE y 2R Y 35,

B 1 3 — Ay + 5y =0 .- () BREZ T2,

(1) 13y = e DIHR LTWB Y LT, &
BB X500 )\ O|EPRD X,

Y= M w XN
CRRICE ‘teer=o
e

N 6”‘

(2) (x) DEKIRT #BER VDR —
o{’ﬁ:h

) LT
i@f””‘ -1t}

’9“” R BhbafE 1)
Cepif) fE& Nk 5 = o e X
1\ (@(2“)1; @(? L)Rrj - 82?{ 6, D4
{ g e . 3 e A
U e S SUAR G5

T b (Shtal, it

{@ (‘a%X 62_7(3,,“,3_{3'_{

{([/ﬁA Jf’_)u):gﬁ\%

-
Vi

%

il
1

(3) (x) DEMETH BT RTOMWERD &,
N Vo b
=45 NS 2) LA MG &

[P v 1

4 =C, 0% x +C, ™ sxx (10

'L L] /(.41 O)?xﬁbéa)

B

(4) (+) DI y(0) = 1,5/(0) = 0 ZH

e dREsRD X,
() 5

Y/ C\{?@f%@as:ﬁ - (“_’;:?'1‘%;‘«7&
+C, (g@ ok T € mf){)

ﬁfﬁﬁ!\\ﬁ*ﬂg z$}

)



